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They are continuous functions in the form:

f(x) = anxn + an-1xn-1 +…+ a1x + a0
e.g.

f(x) = 2x4 + 5x3 – 4x2 – 1
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The above function is a quartic function having degree 4.

A basic polynomial: 

 

 5x
              _________           __________              

                                  _______    

The degree of a polynomial function is the sum of the exponents of its variables on the greater term of the polynomial.

State the name and degree of the following 

polynomials.

y = 5x
________________

y = 5x2y3 + 24x2 _____________

y = x2 - 3x + 2  ______________
Graphing Polynomial Functions
The graph of a polynomial function of degree one is a ___________.


e.g.
y = 2x + 1 
The graph of a polynomial function of degree two is a ____________.


e.g.y = x2 – 4x + 2 
The graph of a polynomial function of degree three makes an ____________.

e.g.
y = x3
Determine the zeros of the function, state its degree, and identify the function.
f(x) = 3(x – 4)(x + 3)(2x - 3)

The zeros of a function tell us at what point the graph of the function crosses the x axis.  To determine the zeros set the function equal to zero and leave it in factored form.  Then determine a value for x that will create a zero in any of the brackets.
0 = 3(x – 4)(x + 3)(2x - 3)

The graph crosses the x axis at:

(  ,  ),  (   ,   ),  (    ,   )

To find the degree and identify the function you have to multiply the factors and put it into standard form.

f(x) = 3(x – 4)(x + 3)(2x - 3)

The function is degree 3 and that makes it a cubic function.

